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58 p | TSP/24:] pipl Pb cd Hg
£ 10 £g/m ® £g/m ® £g/m * mg/m’
7 F iR 250 - — -

% - =X 35.0 ND<0.097 ND<0.0084 <0.0010

' - X 47.0 ND<0.097 ND<0.0084 <0.0010

% - =X 57.0 ND<0.11 ND<0.0078 0.0072

’ - X 62.0 ND<0.11 ND<0.0078 0.0061

% - =X 43.0 ND<0.11 ND<0.0078 0.0072

° - X 66.0 ND<0.11 ND<0.0078 0.0061
ENEEN 77.0 ND<0.11 ND<0.0078 0.0019

* - X 43.0 ND<0.11 ND<0.0078 <0.0010
ENEEN 65.0 ND<0.11 ND<0.0078 <0.0010

° % - = 49.0 ND<0.11 ND<0.0078 <0.0010
ENEEN 46.0 ND<0.11 ND<0.0078 <0.0010

° - X 42.0 ND<0.11 ND<0.0078 <0.0010
o ENEEN 55.0 ND<0.11 ND<0.0078 0.0019
! % - = 34.0 ND<0.11 ND<0.0078 <0.0010

% - =X 40.0 ND<0.11 ND<0.0078 <0.0010

° % - = 58.0 ND<0.11 ND<0.0078 <0.0010
ENEEN 48.0 ND<0.11 ND<0.0078 <0.0010

° % - = 58.0 ND<0.11 ND<0.0078 <0.0010

% - =X 56.0 ND<0.11 ND<0.0078 <0.0010

w0 % - = 59.0 ND<0.11 ND<0.0078 <0.0010

% - =X 51.0 ND<0.11 ND<0.0078 <0.0010

" - X 60.0 ND<0.11 ND<0.0078 <0.0010

% - =X 70.0 ND<0.11 ND<0.0078 <0.0010

o - X 65.0 ND<0.11 ND<0.0078 <0.0011




